£ 1 X/ AR—YH—E XA
% 2 KIFBIE_ R - P —ERNL Yy Py Y 2 —3 3 v Eted
% | ERERMY v h—pe4sTE

= % A—br74—ILFRE MBIEES
T630-8108 HRM=EAEFLATES-1  TEL 0742-22-0001
H & 2025F281H (XER)
wm B BREICENZU-NERRFONERTIHE LT, REAORKEAY

EhEEICOBENEZEEENE T 5,
SINEK U-11 (N5 FEALLT)

ShF— LA A7y o 4k#SC wiE - FBEEMFC /7 I —3=%FC
BZ7Rav o BA’aSC JNEEFC A VILATL—=T v
cr7ovy EIEFC =ERFCjr JIIPAFC
D7avy s TILR—LEIWFC  KIRFC JNZ&FC B

AeAE 1DAYRE - - - 3T —LDFEY -7 - FKIELTO b—F X b &@F—L4AHE

AR 109—35—10%

U —JEOIEMCRE BH3. 51001 B0, BhRE. BER. NEAEDIETRE
b—F x> b CRBRICSD T ORFILED 3 ABIPKEIZITTWBEZRES S
C HEEY WEHEROLAIDLFIF. ARIP EY  (BHRAE)
BARTE HARY Yy h—1H5 8 AHIFERETE ICET S
x ¥ Iz b—F XA B - O 74— - B
I h—=F A FEERE - A7 4 — - 81K
I b—F AV 3L A 74—
2fL « 3fLbh—F 4> b1z bE 74—

SE R AEREEKASHE (hAY =X A b)
Rt Y b —ENLy YU a—v 3 v RARE @D
Shne& 6, 000 (fir) HEASHTHIEL £,
BRWEDE TEL0742-22-0001 (A— bt 74— RER EHFR)
EREHR - IR TF —LTRELIEE N,

C T = IV TIEREDBRITITo TS,
EYy FICADBRIFALZO LA BB K F2E W, KN<NbBEEREFEINT Yy 7%
BOT RV SICTEEL LS W,
M LIZHEEES O, BEEDO MM LZBENCIZT 0,
MeE% ) A - BEHIIEBEBIRY (3L,
C EERIIKOAEIETWEEET,



#2[E MIZUNO CUP (U—11)
1 WK (RALXTYa—I) =H:O0—F74—)L NEBFHES 20252818 (+BEH)

HOBE105—35H—10%

A G R Ad— b =z ¥ Ba—k %z ¥
® 9:30~ K # 0 — 0 =@ @mEs|weeevs| B A 1 — 0 REE A | mer/ets
@| 10 : 00~ = 0 — 2 ZHBF wermes| 7IHR—L 2 — 3 NEE B | messmes
3| 10 : 30~ 4%k & O — 0 = % T e B 5 0O — 0 VL RT | aikk/ses
®| 11 : 00~ = 3 — 0 JIl 7 spes/mes| 7R —L 2 — 3 X = Bt
®| 11 :30~ |#m-#EsEm 1  3PK4 1 = & |wemmes| RN A 2 — 0 VL RT | sesmes
®| 12 : 00~ Z=RF 2 — 0 N 7 | eesmes| NE B 0 — 2?2 * B | sermes

® L]
NEGL b —F X b
@ 13:00~ |A3mr kg 2 — 1 vizF B3fu|wmesmes(c3t JIIFE 0 — 4 TR D-3fu| semmers
13:30~ (A2t ==fR O 2PK3 (0 7N5B B-2fi| wesmrsfc2tt ZBHE 2 09— 3 JNZEB D-2fu| wiwm/sers
@ 14 :00~ |A1 =% 1 — 0 BB B-f| sewess|cir REF 0 — 1 KR D1l ss/mes
14 : 30~ lo-m» k& 0 3PK2 0 7R o emreers|oayr vLzxs 0 2PK3 0 JIFE  o-ao|seemes
Al 15: 00~ |@-ms "EA 0 — 2 "B owms|wrzsrslpar w001 — 2 T oau|smremses
®OB 3 AR H
@[ 15:30~ |o-m» =5 1 OPK2 1 KB o»s ﬁ‘ﬁ%ﬁ&‘/fﬁ%ﬁﬁ"@»%w BB 0 — 2 ZTRF oau|saesmes
2 FEY-—TERE
A7y o k # =fE - HEET = % 5 = 5= K= 1§k JE1iz
* # * 0O — 0 — 2 0 0 0 3
g - #EEST| 0 — 0 * 1 — 1 2 1 1 0 2
= i 0O — 0 1 — 1 * 2 1 1 0 1
B7owy o Bl A NE A L AT 5 = 5= K& (S JE1iz
B A * 1 — 0 0O — 0 4 1 0 1 1
R A o — 1 * 2 — 0 3 2 1 1 2
VL RXT 0O — 0 o — 2 * 1 0 2 -2 3
cCzavy = I =RF JIl 7 s = B K= 1§k JE1iz
= I * 0o — 2 3 — 0 3 3 2 1 2
=RF 2 — 0 * 2 — 0 6 4 0 4 1
JIl 7 0O — 3 o — 2 * 0 0 5 -5 3
D7ov 72 TILR—L % B N f5 = B K (S JE1iz
TILk—L * 2 — 3 2 — 3 0 4 6 -2 3
RE& B 3 — 2 * o — 2 3 3 4 -1 2
X R 3 — 2 2 — 0 * 6 5 2 3 1
3 h—FXYEbE
141 KR 213 JNZB 31 E S-S
1 oP|K2 1 0 | 2 0 3P|K2 0
1 | 0 0 | 1 0 2P[K3 0 | 2 | 1 0 | 4
I I | I I |
AD 141 Bo 141 Co 141 D® 111 AD 2 iz Bm 2 i Co 21 DD 211 AD 341 Bm 341 Co3fz Dm3fi
_ = - VAN — VAN 7 7
i AR - N = o £ = 5 % L ) ,;
% B I L : 2 * |
| | | | | | v
0 2 1 | 2 0 2P[K3 0

|
&=EF = 1t JI7a



